
Restar de Ceros (C)Halle cada diferencia.
10000 1000 1000 1000- 8173 - 498 - 246 - 101

1000 1000 1000 1000- 868 - 398 - 54 - 166
10000 1000 10000 1000- 983 - 607 - 44 - 724

1000 10000 10000 1000- 796 - 5248 - 1357 - 944
10000 10000 10000 10000- 9451 - 682 - 603 - 8996
10000 1000 10000 10000- 3360 - 378 - 8449 - 9253
10000 1000 1000 10000- 2787 - 650 - 514 - 1085
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Restar de Ceros (C) RespuestasHalle cada diferencia.
10000 1000 1000 1000- 8173 - 498 - 246 - 1011827 502 754 8991000 1000 1000 1000- 868 - 398 - 54 - 166132 602 946 83410000 1000 10000 1000- 983 - 607 - 44 - 7249017 393 9956 2761000 10000 10000 1000- 796 - 5248 - 1357 - 944204 4752 8643 5610000 10000 10000 10000- 9451 - 682 - 603 - 8996549 9318 9397 100410000 1000 10000 10000- 3360 - 378 - 8449 - 92536640 622 1551 74710000 1000 1000 10000- 2787 - 650 - 514 - 10857213 350 486 8915
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